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. Fences and parking lots are reported on the statement of financial position as

(A) current assets.

(B) land improvements.
(C) land.

(D) property and equipment.

How many item(s) in the following does IFRS require that a single amount be disclosed within
the income statement:
(1) financial cost, (2) the post-tax profit/loss on discontinued operations, (3) operating
income, (4) other incomes and expenses
(A) One item.
(B) Two items.
(C) Three items.
(D) Four items

. Using IFRS, which of the following items is matched correctly with its basis of valuation for

purposes of reporting on the statement of financial position?

Item Basis of Valuation
L. Inventory Cost
II.  Prepaid expenses Cost
III.  Trading Receivables Cash realizable value
[V. Debt Investment held for collection Fair Value

(A) L 1II, and III

(B) IIIII, and IV

(C) Il andIII

(D) All of the four items

Cost estimates on a long-term contract may indicate that a loss will result on completion of the

entire contract. In this case, the entire expected loss should be

(A) the cost-recovery method defers recognition of the loss to the time when the contract is
completed.

(B) deferred and recognized when the contract is completed, regardless of whether the
percentage-of-completion or cost-recovery method is employed.

(C) recognized in the current period, and reported as a current liability (estimated liability)
under both the percentage-of-completion and the cost-recovery methods.
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(D) no action taken until profits exist upon construction completion under both the
percentage-of-completion and the cost-recovery methods.

5. If both ending inventory and purchases and related accounts payable are understated for 2019,
assume this purchase was recorded and paid for in the year 2020, the effects of this error on net
income(NI) for 2019 and 2020, and current ratio (if greater than 1) at December 31, 2019,

respectively, are

NI for 2019 NI for 2020 2019 CR
(A) no effect, overstatement, overstatement.
(B) no effect, understatement, no effect.
(©) no effect, no effect, overstatement.
(D) no effect, no effect, no effect.

Use the following information for the question 6 and 7:

Mt. Horeb Alpaca Co. has a herd of 150 alpaca. The alpaca are sheared once a quarter to harvest
valuable wool that is used in designer sweaters. Mt. Horeb has the following information related to
the alpaca herd at July 1, 2020, and during the first quarter of the fiscal year.

Alpaca

Carrying value, July 1, 2020 $120,000
Change in fair value due to growth and price changes 7,700
Decrease in fair value due to harvest 975
Alpaca wool harvested during the first quarter (at fair value) 13,000
Cost to sell related to the harvested wool 1,000

6. At September 30, 2020, what is the value of the shearing alpaca and wool inventory on the

statement of financial position?

Shearing Alpaca Wool Inventory
(A) $126,725 $12,000
(B) $126,725 $13,000
(C) $113,275 $12,000
(D) $113,275 $13,000

7. On the first quarter’s income statement, 2020, what amount of unrealized gain or loss on
agricultural assets will be reported?
(A) Unrealized Gain of $6,275 (B) Unrealized Gain of $6,725
(C) Unrealized Gain of $18,725 (D) Unrealized Gain of $19,725
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8. On January 2, 2019, Lutz Inc. purchased a patent with a cost of CHF 1,880,000 and a useful life
of 4 years. At December 31, 2019, and December 31, 2020, the company determines that
impairment indicators are present. The following information is available for impairment testing
at each year end:

12/31/2019 1213172020
Fair value less costs to sell CHF1,430,000 CHF840,000
Value-in-use CHF1,500,000 CHF890,000

The company's 2020 income statement will report

(A) Amortization Expense of CHF470,000.

(B) Amortization Expense of CHF470,000 and a Loss on Impairment of CHF50,000.
(C) Amortization Expense of CHF500,000 and Loss on Impairment of CHF110,000.
(D) Loss on impairment of CHF140,000.

9. Tamkang company has an investment in 30% of shares of SC corporation. At the beginning of
year 1, the carrying amounts of investments using equity method are $40,000. SC company
reports a net loss of $200,000 for year 1 and a net income of $50,000 for year 2. How much of
Equity Investment Income for Tamkang Company should recorded during year 2
(A) $0 (B) $5,000
(C) $15,000 (D) none of the above

10. The transactions for Company C during the year 2020 :

building acquisition by exchange of Land $382,000

cash acquisition of treasury shares 80,000

cash collected from the principal of loan to Company D 294,000

cash dividends paid 190,000

cash purchase of equipment 106,000

unrealized gain on revaluation 200,000

What is the cash flows from investing activity for Company C during the year 2020?
(A) $106,000 cash outflows (B) $186,000 cash inflows
(C) $188,000 cash inflows (D) $388,000 cash inflows
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